



اسم: _____

التاريخ: _____ النتيجة _____

$$7^{(-1)} - (-9) =$$

$$9^{(-2)} + (-7) =$$

$$8^{(-1)} - (-5) =$$

$$10^{(-1)} + (-8) =$$

$$4^2 - (-10) =$$

$$2^{(-2)} - 8 =$$

$$(-2)^{(-1)} + (-10) =$$

$$9^2 + (-10) =$$

$$(-4)^2 + (-2) =$$

$$(-1)^{(-2)} - (-1) =$$

$$8^{(-2)} - 2 =$$

$$10^2 - (-3) =$$

$$(-5)^0 - (-6) =$$

$$(-3)^{(-1)} + 9 =$$

$$(-5)^0 + (-7) =$$

$$1^{(-1)} - (-2) =$$

$$10^{(-1)} - (-10) =$$

$$2^2 + (-3) =$$

$$6^0 + 7 =$$

$$(-8)^{(-1)} - (-7) =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$7^{(-1)} - (-9) = \frac{64}{7} = 9\frac{1}{7}$$

$$9^{(-2)} + (-7) = \left(-\frac{566}{81}\right) = \left(-6\frac{80}{81}\right)$$

$$8^{(-1)} - (-5) = \frac{41}{8} = 5\frac{1}{8}$$

$$10^{(-1)} + (-8) = \left(-\frac{79}{10}\right) = \left(-7\frac{9}{10}\right)$$

$$4^2 - (-10) = 26$$

$$2^{(-2)} - 8 = \left(-\frac{31}{4}\right) = \left(-7\frac{3}{4}\right)$$

$$(-2)^{(-1)} + (-10) = \left(-\frac{21}{2}\right) = \left(-10\frac{1}{2}\right)$$

$$9^2 + (-10) = 71$$

$$(-4)^2 + (-2) = 14$$

$$(-1)^{(-2)} - (-1) = 2$$

$$8^{(-2)} - 2 = \left(-\frac{127}{64}\right) = \left(-1\frac{63}{64}\right)$$

$$10^2 - (-3) = 103$$

$$(-5)^0 - (-6) = 7$$

$$(-3)^{(-1)} + 9 = \frac{26}{3} = 8\frac{2}{3}$$

$$(-5)^0 + (-7) = (-6)$$

$$1^{(-1)} - (-2) = 3$$

$$10^{(-1)} - (-10) = \frac{101}{10} = 10\frac{1}{10}$$

$$2^2 + (-3) = 1$$

$$6^0 + 7 = 8$$

$$(-8)^{(-1)} - (-7) = \frac{55}{8} = 6\frac{7}{8}$$